LV.A-125
LV.A-125-AS

ELESA J& 4% it

AR B4

WA R E R EPA TR AR, BEA. Mk,
f DL B AL A

- EEfkE, THET,

R TES BN,

LVARL R A b KT, :
- LVA-ASE , #NBRH#KTOY K EAM AT EE, HERR, :
BRMEERBARERRTERESE, WLESHE B, A& |
AEALERTHERLT, KE2EAL, |
- ERRTEF(ERITY, 2LE5121),

w B bna i i B B e i i B e i i i B iy By i i e ?

LR EEE L EELCELLLECEYY

AR A A A AR RS A A AR RARRARRAE R R R T

AR BB R RN

B2 N

|

TR AT A BT, S22 KA,

KFRBEHHRCRBEN AN T ZRMF T &, ZBHFFL %
e BTl REEARA, R EE, TR EXE, REME RSP,

ACFREHT DEBBVVRE, €& F0REnAFEESR, £F
FE RS AEFHENRERE, FEEZFE, FEEAKFENRT
b,

--E--
T 1 =
(T
L] 4!
B C LT NI5
s N\ 1)
— _| 1
- I | 1 r ’—.7
- (]
=
‘ ' ‘ _____ | _l_ _____ —
o
RB R HOE R R wF | Ev | 5F | BEFT | ==
{85 B = A% B = D L Lig |1 d | 7)) s [N] g g
306521 | LVA-125-24-M16x58 | 310221| LV.A-125-24-AS-M16x58 125 128 M16 58 386 512
306525 | LV.A-125-24-M16x98 | 310225| LVA-125-24-AS-M16x98 165 168 M16 98 437 563
306541 | LV.A-125-24-M16x138 | 310241| LVA-125-24-AS-M16x138| 122 205 208 7 | m16 138 | 44 24 28000 487 613
306561| LV.A-125-24-M16x158 | 310261| LV.A-125-24-AS-M16x158 225 228 M16 158 514 640
306625 | LV.A-125-24-M20x98 | 310325| LV.A-125-24-AS-M20x98 165 168 M20 98 507 633
306641| LV.A-125-24-M20x138 | 310341| LV.A-125-24-AS-M20x138 205 208 M20 138 586 712
306661 | LV.A-125-24-M20x158 | 310361| LV.A-125-24-AS-M20x158| 122 225 208 67 | Mmoo 158 | 44 24 28000 625 751
306681 | LV.A-125-24-M20x198 | 310381| LV.A-125-24-AS-M20x198 265 268 M20 198 708 834
306725| LV.A-125-24-M24x98 | 310425| LVA-125-24-AS-M24x98 165 168 M24 98 605 731
306761| LVA-125-24-M24x158 | 310461| LVA-125-24-AS-M24x158| 125 225 228 67 | M24 158 | 24 24 28000 777 903
306781| LV.A-125-24-M24x198 | 310481| LV.A-125-24-AS-M24x198 265 268 M24 198 895 1021
*URARSHE RGAELERERAT, BAEREHLORTE, TRLIREREEN,
# k22T B g 4 B BE,

“ELESA" and "GANTERGRIFF” models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

2 (elesa+BANTER




